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PROFESSIONAL EXAMINATION BOARD
Group­1 Post Graduate Selection Test 2016

20th March 2016, 09:00 AM
Topic:­ General Knowledge 
1)

Question Stimulus :­

General Knowledge

Who was the first women chief minister of Madhya Pradesh?/म鐋넀दॕष कॎ 넀थम मोऻलॊ
मॏ⌀ मॠ縀ॎ कग़न थॎ ॠ?

Meera Kumar/ मॎरॊ कॏ मॊर

Sushma Swaraj/  ॏऺहमॊ 耀रॊज

Uma Bharti/ उमॊ भॊरतॎ

Sarla Grewal / ऺरलॊ 鄀ॕशॊल

Correct Answer :­Uma Bharti/ उमॊ भॊरतॎ 

2)

Question Stimulus :­

General Knowledge

Which state is to the west of M.P.?/म. 넀. कॕ पो洀म म؄ कग़न­ऺॊ रॊ ऻॖ?

Goa/ गख़शॊ

Gujrat/ गॏजरॊत

Uttar Pradesh/ उ縃र 넀दॕष

Maharashtra/ मऻॊरॊ ३̓

Correct Answer :­Gujrat/ गॏजरॊत 

3)

Question Stimulus :­

General Knowledge
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General Knowledge

Which of the following district was not added to Madhya Pradesh in
1956?/ोन가 म؄ ऺॕ कग़न­ऺॊ ोजलॊ 1956 म؄ म鐋넀दॕष म؄ ऺ्䀀ोलत नऻॎ ॠ थॊ?

Bhopal/ भख़पॊल

Indore/ इॠदग़र

Gwalior/ 栀ॊोलयर

Nagpur/ नॊगपॏर

Correct Answer :­Nagpur/ नॊगपॏर 

4)

Question Stimulus :­

General Knowledge

Who was the first Vidhan Sabha speaker of M.P.?/म. 넀. कॎ ोशधॊन ऺभॊ कॕ 넀थम
ऺभॊपोत कग़न थॕ?

P Kunjilal dubey/ पॠ. कॏॠ जॎलॊल दॏबॕ

Tejlal Tembhare/तॕजलॊल टॕम् भरॕ

Gulsher Ahmad/ गॏलषॕर अऻमद

Srinivas Tiwari/ 瀀ॎोनशॊऺ ोतशॊरॎ

Correct Answer :­P Kunjilal dubey/ पॠ. कॏॠ जॎलॊल दॏबॕ 

5)

Question Stimulus :­

General Knowledge

Which among the following is The Business capital of Madhya Pradesh?/
ोन가 ोल्खत म؄ ऺॕ म鐋넀दॕष कॎ 戀शऺॊोयक रॊजधॊनॎ कग़न­ऺॎ ऻॖ?

Bhopal/ भख़पॊल

Indore/ इॠदग़र

Gwalior/ 栀ॊोलयर
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Jabalpur/ जबलपॏर

Correct Answer :­Indore/ इॠदग़र 

6)

Question Stimulus :­

General Knowledge

Which of the following is a District of Madhya Pradesh?/ ोन가 म؄ ऺॕ कग़न­ऺॊ
म鐋넀दॕष कॊ एक ोजलॊ ऻॖ?

Agar Malwa/ आगर मॊलशॊ

Mhow/ मॽ

Pipariya/ ोपपौरयॊ

Budhni/ बॏधनॎ

Correct Answer :­Agar Malwa/ आगर मॊलशॊ 

7)

Question Stimulus :­

General Knowledge

State Tribal museum is situated in: /रॊ जनजॊतॎय  ॠऺ鄀ऻॊलय ्㄁थत ऻॖ­

Bhopal/ भख़पॊल म؄

Indore/ इॠदग़र म؄

Jabalpur/ जबलपॏर म؄

Guna/ गॏनॊ म؄

Correct Answer :­Bhopal/ भख़पॊल म؄ 

8)

Question Stimulus :­

General Knowledge 
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Old Vidhan sabha in Bhopal is also famous as which of the following name?/ भख़पॊल
म؄ ्㄁थत पॏरॊनॎ ोशधॊनऺभॊ और ोकऺ नॊम ऺॕ ोश⌀ॊत ऻॖ?

Edward Hall/ एडशड१ ऻॗल

Minto Hall/ ोमॠटख़ ऻॗल

Indira Hall/ इॠोदरॊ ऻॗल

Gandhi Hall/ गॊॠधॎ ऻॗल

Correct Answer :­Minto Hall/ ोमॠटख़ ऻॗल 

9)

Question Stimulus :­

General Knowledge

Which of the following is present in Mandu?/ ोन가 म؄ ऺॕ मॊॠडॐ  म؄ 夀ॊ ्㄁थत ऻॖ?

Asharfi Palace/ अषरफॎ मऻल

Roopmati Palace/ ॺपमतॎ मऻल

Jahaz Palace/ जऻॊि मऻल

All of the above/ ऊपरख़䌀 ऺभॎ

Correct Answer :­All of the above/ ऊपरख़䌀 ऺभॎ 

10)

Question Stimulus :­

General Knowledge

Ahilya Bai belongs to which of the following dynasty?/ अोऻ嘀ॊ बॊई ोन가 म؄ ऺॕ
ोकऺ रॊजशॠष ऺॕ  ॠऺब현 ऻ॰?

Holkar/ ऻख़᐀र

Bhopal/ भख़पॊल

Scindia/ ो ॠऺोधयॊ

Tripuri/ ो縀पॏरॎ
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Correct Answer :­Holkar/ ऻख़᐀र 

11)

Question Stimulus :­

General Knowledge

State planning Commission office of M.P. is situated in which building?/
म.넀. म؄ रॊ यख़जनॊ आयख़ग कॊ कॊयॊ१लय ोकऺ भशन म؄ ्㄁थत ऻॖ?

Rajbhawan/ रॊजभशन

Pustak Building/ पॏ餀क भशन

Vallabh Bhawan/ श堀भ भशन

Vindhyachal Bhawan/ ोशॠ鐋ॊचल भशन

Correct Answer :­Vindhyachal Bhawan/ ोशॠ鐋ॊचल भशन 

12)

Question Stimulus :­

General Knowledge

Jabalpur is famous as the _________capital of Madhya Pradesh?/ जबलपॏर
म鐋넀दॕष कॎ_______  रॊजधॊनॎ कॕ ॺप म؄ 넀ोऺ현 ऻॖ।

Business/ 戀ॊपॊर

Music/  ॠऺगॎत

Tourism/ पय१टन

None/ कख़ई नऻॎ ॠ

Correct Answer :­None/ कख़ई नऻॎ ॠ 

13)

Question Stimulus :­

General Knowledge 

Which of the following city is famous as Holy city of Buddhist?/ोन가 म؄ ऺॕ कग़न­ऺॊ षऻर
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बग़현 धम१ कॕ एक पोश縀 षऻर कॕ ॺप म؄ ोश⌀ॊत ऻॖ?

Sanchi/ ऺॊँचॎ

Khajuraho/ खजॏरॊऻख़

Vidisha/ ोशोदषॊ

Sagar/ ऺॊगर

Correct Answer :­Sanchi/ ऺॊँचॎ 

14)

Question Stimulus :­

General Knowledge 

Ami Kamni is associated with which sports?/ अमॎ कॊमनॎ ोकऺ खॕल ऺॕ  ॠऺब현 ऻॖ?

Softball/ ऺॗ鐀बॗल

Snooker/ Ⰰॐकर

Wushu/शॐषॐ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Snooker/ Ⰰॐकर 

15)

Question Stimulus :­

General Knowledge

Tawa Canal is present in which of following district?/ तशॊ नऻर ोन가 म؄ ऺॕ ोकऺ
ोजलॕ म؄ ्㄁थत ऻॖ?

Hoshangabad/ ऻख़षॠगॊबॊद

Bhopal/ भख़पॊल

Guna/ गॏनॊ

Datia/ दोतयॊ
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Correct Answer :­Hoshangabad/ ऻख़षॠगॊबॊद 

Topic:­ General Hindi
1)

Question Stimulus :­

‘अद्भॏ त’ रऺ कॕ ऺ् थॊयॎ भॊश कॊ नॊम क् यॊ ऻॖ?

ोशऺ् मय

रोत

उत् ऺ ॊऻ

इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­ोशऺ् मय 

2)

Question Stimulus :­

Hindi

एक ऺॕ अोधक उपऺगॳ ऺॕ बनॊ षब् द ऻॖ­

अनॊऻॊर

आऻॊर

넀ॊचॊय१

넀ऻॊर

Correct Answer :­अनॊऻॊर 

3)

Question Stimulus :­

Hindi

त먉श षɨ कॊ चयन कॎोजए।

षकॏ न

शॊ萀
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戀थॊ

बॖल

Correct Answer :­बॖल 

4)

Question Stimulus :­

Hindi

ोन가 म؄ ऺॕ ोकऺ षɨ कॎ रचनॊ 넀球य ऺॕ ॽई ऻॖ?

넀ोतकॐ ल

넀ॊचॊय१

क॑पॊलॐ

उ戋म

Correct Answer :­क॑पॊलॐ 

5)

Question Stimulus :­

Hindi

ोऻ⤈ॎ शण१मॊलॊ म؄ 戀ॠजनख़ ॠ कॎ  ॠऺ⌀ॊ ोकतनॎ ऻॖ?

32

34

33

36

Correct Answer :­33 

6)

Question Stimulus :­

Hindi

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


ोन가 ोशक䰀ख़ॠ म؄ ोकऺॎ एक कॎ शत१नॎ षॏ현 ऻॖ, चयन कॎोजए।

मॏॽ१त

मॏॾत१

मॾत१

मॏॽत१

Correct Answer :­मॏॾत१ 

7)

Question Stimulus :­

Hindi

ोन가 ोशक䰀ख़ॠ म؄ ऺॕ षॏ현 शॊ夀 कॊ चयन कॎोजए?

एक फॐ लख़ ॠ कॎ मॊलॊ लॕ आइऐ।

फॐ लख़ ॠ कॎ मॊलॊ लॕ आइऐ एक।

फॐ लख़ ॠ कॎ एक मॊलॊ लॕ आईए।

फॐ लख़ ॠ कॎ मॊलॊ एक लॕ आईऐ।

Correct Answer :­फॐ लख़ ॠ कॎ एक मॊलॊ लॕ आईए। 

8)

Question Stimulus :­

Hindi

ोनम् नोल्खत शॊ夀ख़ॠ म؄ ऺॕ  ॠऺदॕऻ शॊचक शॊक् य कॊ चयन कॎोजए।

परख़पकॊर ऻॎ मॊनशतॊ ऻॖ।

अब तक ऺब तॖयॊरॎ ऻख़ चॏकॎ ऻख़गॎ।

मॕरॎ बॊत मॊनख़ और ोदल लगॊ कर पुख़।

ऺ् शॊथЄ श् य्䌀 कख़ ोमञ नऻॎ बनॊनॊ चॊोऻए।

Correct Answer :­अब तक ऺब तॖयॊरॎ ऻख़ चॏकॎ ऻख़गॎ। 
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9)

Question Stimulus :­

Hindi

ोन가ोल्खत शॊ夀 म؄ रॕखॊॠोकत षɨ कॕ ोशलख़म षɨ कॊ चयन कर ौर䌀 ㄁थॊन भौरए।

ऻम؄ ऺॊ्刋क भख़जन करनॊ चॊोऻए, ______ भख़जन षरॎर कॕ ोलए ऻॊोनकॊरक ऻॖ।

ॠऺतॏोलत

तॊमोऺक

अ ॠऺतॏोलत

इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­तॊमोऺक 

10)

Question Stimulus :­

Hindi

ोन가 넀眀 कॕ षɨ­ यॏ怀 कॕ ोशक䰀ख़ॠ म؄ ऺॕ ऺऻॎ अथ१­भॕद कॊ चयन कॎोजए।

तरणॎ­तरोण

तरणॎ­मग़कॊ

मग़कॊ­नग़कॊ

ॐऺय१­नग़कॊ

नग़कॊ­ ॐऺय१

Correct Answer :­नग़कॊ­ ॐऺय१ 

11)

Question Stimulus :­

Hindi

“ोजऺकॎ लॊठॎ उऺकॎ भ॰ऺ” म؄ ________ऺश१नॊम ऻॖ।
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पॏॺह शॊचक

ोनज शॊचक

ऺ눀ॠध शॊचक

ोन洀य शॊचक

Correct Answer :­ऺ눀ॠध शॊचक 

12)

Question Stimulus :­

Hindi

‘अथॳपॊज१न’ ोकऺ  ॠऺोध कॊ उदॊऻरण ऻॖ?

दॎघ१ 耀र

गॏण 耀र

यण 耀र

अयॊोद 耀र

Correct Answer :­गॏण 耀र 

13)

Question Stimulus :­

Hindi

‘ोनम् नोल्खत षब् दख़ ॠ म؄ कग़न­ऺॊ बॽ耀ॎोऻ’ ऺमॊऺ कॊ उदॊऻरण नऻॎ ॠ ऻॖ?

ो縀लख़चन

ोशहधर

गजॊनन

ो縀भॏशन

Correct Answer :­ो縀भॏशन 

14)
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Question Stimulus :­

Hindi

“चरण कमल ऺम कख़मल” म؄ चरण षब् द ऻॖ­

उपमॊन

उपमॕय

ऺॊधॊरण षब् द

शॊचक षब् द

Correct Answer :­उपमॕय 

15)

Question Stimulus :­

Hindi

ोन가 म؄ ऺॕ ोकऺ ऺमॐऻ म؄ ऺभॎ षɨ ‘ऺमॏ꬀’ कॕ पयॊ१यशॊचॎ ऻ॰?

जलोध, ऺॊगर, ऺर, तरॠगॊ

अॠबॏोध, ोऺ輈ॏ, उदोध, मऻॊण१श

उदोध, तीॊग, तरॠग, ऺर

ऺॊगर, ोऺ輈ॏ, ऺॕतॏ, तरोन

Correct Answer :­अॠबॏोध, ोऺ輈ॏ, उदोध, मऻॊण१श 

Topic:­ General English
1)

Question Stimulus :­

English

Choose the option which can be substituted for the given sentence.

One who is unable to pay his debts.

Wealthy.

Successful.
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Bankrupt.

Solvent.

Correct Answer :­Bankrupt. 

2)

Question Stimulus :­

English

Out of the given options choose the one with the correct spelling.

Judgement.

Judgment.

Judgemant.

Judgament.

Correct Answer :­Judgement. 

3)

Question Stimulus :­

English

Find out which part of the sentence has an error. If there is no error, mark
your answer as ‘No error’.

The enemy has received (a)/ many information’s regarding (b)/the
activities of the army (c)/of our neighboring countries. No error (d).

(a)

(b)

(c)

(d)

Correct Answer :­(b) 

4)
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Question Stimulus :­

English

Arrange the following sentences to form a logically coherent paragraph.

A. linked with lack of self­confidence.

B. Basically, for a child to understand a language,

C. Stammering is a habit disorder

D. there are four stages.

CBAD.

CABD.

BCDA.

DACB.

Correct Answer :­CABD. 

5)

Question Stimulus :­

English

Complete the following sentence by choosing the correct form of verb.

He has _____ a lot of courage during his times of adversity.

show

shows

showing

shown

Correct Answer :­shown 

6)

Question Stimulus :­

English
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Complete the following sentence by choosing the correct conjunction.

Tina was unwell, _____ she went shopping with her friends.

and

so

yet

therefore

Correct Answer :­yet 

7)

Question Stimulus :­

English

Complete the following sentence by choosing the most appropriate word
given below:

Would all those in favour please _______ their hands?

rays

raise

raze

race

Correct Answer :­raise 

8)

Question Stimulus :­

English

Complete the following sentence by choosing the correct preposition.

All the boys quarreled _________themselves.

among

between
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across

besides

Correct Answer :­among 

9)

Question Stimulus :­

English

Complete the following sentence by choosing the correct article.

I saw _______ one­eyed man yesterday.

the

an

a

No article required

Correct Answer :­a 

10)

Question Stimulus :­

English

Complete the following sentence by choosing the correct determiner.

I requested him to bring me________ books.

less

little

few

a few

Correct Answer :­a few 

11)
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Question Stimulus :­

English

Complete the following sentence by choosing the correct Phrasal Verb.

While giving evidence in the court, she ______.

broke up

broke into

broke down

broke off

Correct Answer :­broke down 

12)

Question Stimulus :­

English

Tick the option that has the same meaning as the word underlined in the sentence.

One must try to overcome adverse circumstances.

favorable

unfavorable

climatic

pleasant

Correct Answer :­unfavorable 

13)

Question Stimulus :­

English

Tick the word that is opposite in meaning to the word that is underlined.

Shakespeare was a prolific writer.

productive
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unproductive

popular

famous

Correct Answer :­unproductive 

14)

Question Stimulus :­

English

Complete the following sentence by choosing the correct modal.

She works hard so that she _____ pass.

might

may

should

shall

Correct Answer :­may 

15)

Question Stimulus :­

English

Complete the following sentence by choosing the correct order of
pronouns.

________ will watch movie tonight.

You, Sonal and I

Sonal, You and I

I , You and Sonal

I , sonal and you

Correct Answer :­You, Sonal and I 
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Topic:­ General Computer Knowledge
1)

Question Stimulus :­

Computer

Drum Pen is a type of­/ड३ म पॕन एक 넀कॊर कॊ ______ ऻॖ।

Printer/ ो넀ॠटर

Plotter/ 儐ॗटर

Scanner/ ꤀ॖनर

Keyboard/ कॎ­बख़ड१

Correct Answer :­Plotter/ 儐ॗटर 

2)

Question Stimulus :­

Computer

The process of verification for ‘Log­in­name’ and ‘Password’ is­/ लॗग­इन­नॕम तथॊ ‘पॊऺशड१’ कॕ
ऺ球ॊपन कॎ 넀ोॿयॊ ऻॖ­

Logging in/ लॗोगॠग इन

Certification/ ऺोट१ोफकॕषन

Authentication/ ऑथ؄ोटकॕषन

Configuration/ कॗ्ूगरॕषन

Correct Answer :­Authentication/ ऑथ؄ोटकॕषन 

3)

Question Stimulus :­

Computer

Powerpoint is a­/पॊशरपॗइॠट ऻॖ एक­

Word Processor/ शड१ 넀ख़ऺॕऺर
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Spreadsheet Program/ ㄀ॖडषॎट 넀ख़鄀ॊम

Presentation Package/ 넀ॕज؄टॕषन पॖकॕज

Database Management Package/ डॕटॊबॕऺ मॖनॕजम؄ट पॖकॕज

Correct Answer :­Presentation Package/ 넀ॕज؄टॕषन पॖकॕज 

4)

Question Stimulus :­

Computer

Which of the following is the physical path over which a message travels?/
ोन가 म؄ ऺॕ कग़न ऺॊ भग़ोतक पथ ऻॖ, ोजऺऺॕ  ॠऺदॕष  ॠऺचॊौरत (गोत) ऻख़तॊ ऻॖ?

Protocol/ 넀ख़टख़कॗल

Signal/ ोऺ㤀ल

Medium/ मॎोडयम

Pathway/ पॊथ­शॕ

Correct Answer :­Medium/ मॎोडयम 

5)

Question Stimulus :­

Computer

Which of the following refers to the physical arrangement of a network?/ ोन가 म؄ ऺॕ कग़न­ऺॊ
नॕटशक१  कॎ भग़ोतक 戀श㄁थॊ कख़ दषॊ१तॊ ऻॖ?

Data flow/ डॕटॊ �ख़

Mode of operation/ मख़ड ऑफ ऑपरॕषन

Topology/ टख़पख़लॗजॎ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Topology/ टख़पख़लॗजॎ 

6)
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Question Stimulus :­

Computer 

Protocol suite for the Current Internet is­/ शत१मॊन इॠटरनॕट कॕ ोलए 넀ख़टख़कॗल  ॐऺट ऻॖ­

TCP/IP/ टॎऺॎपॎ/आईपॎ

NCP/ एनऺॎपॎ

UNIX/ यॐोन쀀

ACM/ एऺॎएम

Correct Answer :­TCP/IP/ टॎऺॎपॎ/आईपॎ 

7)

Question Stimulus :­

Computer

______ layer is responsible for ‘process to process’ delivery?/ _____ लॕयर
‘넀ख़ऺॕऺ टॐ  넀ख़ऺॕऺ’ ोडोलशरॎ कॕ ोलए ोज䀀ॕदॊर ऻख़तॎ ऻॖ?

Data link layer/ डॕटॊ ोलॠक लॕयर

Session layer/ ऺॕषन लॕयर

Transport layer/ ट३ ॊॠऺपख़ट१ लॕयर

Network layer/ नॕटशक१  लॕयर

Correct Answer :­Transport layer/ ट३ ॊॠऺपख़ट१ लॕयर 

8)

Question Stimulus :­

Computer

Logical design of database is known as­/ डॕटॊबॕऺ कॕ लॗोजकल ोडिॊइन कख़ कऻतॕ ऻ॰­

Database schema/ डॕटॊबॕऺ ॺपरॕखॊ

Database Instance/ डॕटॊबॕऺ इॠ케؄ऺ

Database snapshot/ डॕटॊ Ⰰॖपषॗट
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Database design/ डॕटॊबॕऺ ोडिॊइन

Correct Answer :­Database schema/ डॕटॊबॕऺ ॺपरॕखॊ 

9)

Question Stimulus :­

Computer

Which of the following can be taken as a primary key?/ ोन가 म؄ ऺॕ कग़न­ऺॊ
넀ॊथोमक कॏॠ जॎ कॕ ॺप म؄ ोलयॊ जॊ ऺकतॊ ऻॖ?

Name/नॊम

Id/आईडॎ

Street/ऺीक

Department/ोडपॊट१म؄ट

Correct Answer :­Id/आईडॎ 

10)

Question Stimulus :­

Computer 

SDL stands for­/ एऺडॎएल कॊ पॐण१ ॺप ऻॖ­

Storage discrete localisation/ 케ख़रॕज ोड्销ट लख़कॕलॊइजॕषन

Storage definition localisation/ 케ख़रॕज डॕोफनॕषन लख़कॕलॊइजॕषन

Storage definition language/ 케ख़रॕज डॕोफनॕषन ल॰栀ॕज

Storage discrete language/ 케ख़रॕज ोड्销ट ल॰栀ॕज

Correct Answer :­Storage definition language/ 케ख़रॕज डॕोफनॕषन ल॰栀ॕज 

Topic:­ General Science
1)

Question Stimulus :­

General Science
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What is PH value of human blood?/ मॊनश र䌀 कॊ PH मॊन ोकतनॊ ऻख़तॊ ऻॖ?

7

7.2

7.4

7.8

Correct Answer :­

7.4 

2)

Question Stimulus :­

General Science

In a human body, the basic building block are­/ मॊनश षरॎर म؄ मॏ⌀  ॠऺरचनॊ갃क इकॊई ऻॖ­

Muscles/ Ⰰॊयॏ

Nerves/ न ؄ऺ

Cells/ कख़ोषकॊय؄

Bones/ ऻो䠁यॊँ

Correct Answer :­Cells/ कख़ोषकॊय؄ 

3)

Question Stimulus :­

General Science

Approximately how much time does a Sun ray take reaching Earth?/  ॐऺय१ ऺॕ प॑怋ॎ तक 넀कॊष
पॽँचनॕ म؄ ोकतनॊ ऺमय लगभग लगतॊ ऻॖ?

400 seconds/ 400 ऺॕकॠ ड

500 seconds/ 500 ऺॕकॠ ड

600 seconds/ 600 ऺॕकॠ ड

700 Seconds/ 700 ऺॕकॠ ड
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Correct Answer :­500 seconds/ 500 ऺॕकॠ ड 

4)

Question Stimulus :­

General Science

Which among the following molecule is rarely found in universe but abundant on earth?/
ोन가 म؄ ऺॕ कग़न ऺॊ पदॊथ१ अॠतौरꈀ म؄ उप्㄁थत नऻॎ ॠ ऻॖ, पर㬇ॏ प॑怋ॎ पर 넀चॏर मॊ縀ॊ म؄ ऻॖ?

CO 2

O2

CH4

He

Correct Answer :­O2 

5)

Question Stimulus :­

General Science

Which of the following Kingdom represents bacteria?/ ोन가 म؄ ऺॕ कग़न­ऺॊ जगत बॖ픀ॎौरयॊ कॊ
넀ोतोनोध刋 करतॊ ऻॖ?

Monera/ मख़नॕरॊ

Protista/ 넀ख़ोट케

Protozoa/ 넀ख़टख़जख़आ

Metazoa/मॕटॊजख़आ

Correct Answer :­Monera/ मख़नॕरॊ 

6)

Question Stimulus :­

General Science

Which among the following laws of Physics explain about the elliptical orbits of
planetary bodies?/ ोन가 म؄ ऺॕ कग़न­ऺॊ भग़ोतक ोनयम 鄀ऻ­ोप嬃ख़ॠ कॕ परशलयॊकॊर कꈀ कख़ 넀दोष१त करतॊ ऻॖ?
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Newton's Law/ 䨌ॐटन कॊ ोनयम

Kepler's Law/ कॕपलर कॊ ोनयम

Snell's law/ Ⰰॕल कॊ ोनयम

Coulomb's law/ कॏ ल ॠॗ눀 कॊ ोनयम

Correct Answer :­Kepler's Law/ कॕपलर कॊ ोनयम 

7)

Question Stimulus :­

General Science

On which of the following the weight of a person will be minimum?/ ोन가 म؄ ऺॕ कऻॊँ ोकऺॎ
戀्䌀 कॊ भॊर 䨌ॐनतम ऻख़गॊ?

Venus/ षॏॿ

Mars/ मॠगल 鄀ऻ

Moon/ चॠ꬀्मॊ

Mercury/ पॊरॊ

Correct Answer :­Moon/ चॠ꬀्मॊ 

8)

Question Stimulus :­

General Science

The "Planetoids" are located between which of the following?/ अॠतौरꈀ म؄ “ꈀॏ꬀鄀ऻ”, ोन가 म؄ ऺॕ
ोकन कॕ बॎच उप्㄁थत ऻख़तॕ ऻ॰?

Mars and Jupiter/ मॠगल और ब॑ऻ⨀ोत

Saturn & Jupiter/ षोन और ब॑ऻ⨀ोत

Mercury and Venus/ बॏध और षॏॿ

Earth & Mars/ प॑怋ॎ और मॠगल 鄀ऻ

Correct Answer :­Mars and Jupiter/ मॠगल और ब॑ऻ⨀ोत 
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9)

Question Stimulus :­

General Science

Deficiency of Tocopherol leads to sterility in males and females. The popular word for
Tocopherol is _____?/ टख़कख़ोफरॊल कॎ कमॎ नर श मॊदॊ म؄ नपॏॠऺकतॊ उ餃 कर ऺकतॎ ऻॖ। टख़कख़ोफरॊल कख़
ऺॊमॊ䨌तॡ जॊनॊ जॊतॊ ऻॖ।

Vitamin B3/ ोशटॊोमन बॎ3

Vitamin K/ ोशटॊोमन कॕ

Vitamin E/ ोशटॊोमन ई

Vitamin C/ ोशटॊोमन ऺॎ

Correct Answer :­Vitamin E/ ोशटॊोमन ई 

10)

Question Stimulus :­

General Science

Water at 3.98o C has______./ जल 3.98o C कॊ पर _____ ऻख़तॊ ऻॖ।

minimum density/ 䨌ॐनतम घन刋

maximum density/ ऺशॊ१ोधक घन刋

maximum weight/ ऺशॊ१ोधक भॊर

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­maximum density/ ऺशॊ१ोधक घन刋 

11)

Question Stimulus :­

General Science

Which among the following is edible?/ ोन가 म؄ ऺॕ कग़न­ऺॊ खॊनॕ यख़戀 ऻॖ?

Sodium Bicarbonate/ ऺख़ोडयम बॊइकॊबॳनॕट

Sodium Carbonate/ ऺख़ोडयम कॊबॳनॕट
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Sodium Dioxide/ ऺख़ोडयम डॊइऑ쀀ॊइड

Sodium Hydroxide/ ऺख़ोडयम ऻॊइड३ ॗ쀀ॊइड

Correct Answer :­Sodium Bicarbonate/ ऺख़ोडयम बॊइकॊबॳनॕट 

12)

Question Stimulus :­

General Science

What does contain "Red Data Book”? / ” रॕड डॕटॊ बॏक” म؄ 夀ॊ ऻख़तॊ ऻॖ?

Astrology/ खगख़ल षॊ鼀

Endangered wild plants, animals/ लॏ ऻख़नॕ शॊलॕ पॊदप श जॠतॏ कॎ  ॐऺचॎ

Communism/ ऺमॊजशॊदॎ

Endangered Forests/ लॏ넀ॊय जॠगल

Correct Answer :­Endangered wild plants, animals/ लॏ ऻख़नॕ शॊलॕ पॊदप श जॠतॏ कॎ  ॐऺचॎ 

13)

Question Stimulus :­

General Science

In context with Science and Technology development of China, what is Tianhe­I?/ ोशئجॊन श
넀ग़쐊ख़ोगक कॕ ोशकॊऺ म؄ चॎन कॊ ोतयॊनॕ­I 夀ॊ ऻॖ?

A satellite/ एक उप鄀ऻ

A space station/ एक अॠतौरꈀ 케ॕषन

A super computer/ एक  ॏऺपर कᐠㄐॐटर

A proposed GPS/ एक 넀餀ॊोशत जॎपॎएऺ

Correct Answer :­A super computer/ एक  ॏऺपर कᐠㄐॐटर 

14)

Question Stimulus :­

General Science
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Which among the following can be measured with Anemometer?/ एनॎमख़मॎटर ऺॕ ोन가 म؄ ऺॕ 夀ॊ
मॊपॊ जॊतॊ ऻॖ?

Water Velocity/ पॊनॎ कॊ शॕग

Wind Velocity/ पशन कॊ शॕग

Relative Humidity/ ऺॊपॕꈀ आ꬀१तॊ

Absolute Humidity/ ोनरपॕꈀ आ꬀१तॊ

Correct Answer :­Wind Velocity/ पशन कॊ शॕग 

15)

Question Stimulus :­

General Science

Which is the most abundant metal in the Earth's crust?/ प॑怋ॎ कॎ ऺतऻ पर कग़न­
ऺॎ धॊतॏ ऺशॊ१ोधक पॊयॎ  जॊतॎ ऻॖ?

Silicon/ ोऺोलकन

Iron/ लख़ऻॊ

Aluminium/ ए嘀ॏोमोनयम

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Aluminium/ ए嘀ॏोमोनयम 

Topic:­ General Reasoning
1)

Question Stimulus :­

Logical Reasoning

In the following question, there is a certain relationship between two given words on
one side of :: and one word is given on another side of :: while another word is to be
found from the given alternative, having the same relation with this word as the words
of the given pair bear. Choose the correct alternative./नॎचॕ ोदए गए 넀眀 म؄ ोच� (::) कॕ बॊॠई ओर दख़
पद ोदए गए ऻ॰। ोजनम؄ आपऺ म؄ एक 넀कॊर ऺॕ कख़ई ऺ눀輈 ऻॖ, ठॎक इऺॎ 넀कॊर कॊ ऺ눀輈 ोच� (::) कॕ दॊॠई और ोदए
गए पद तथॊ उऺकॕ नॎचॕ ोदए गए ोशक䰀ख़ॠ म؄ ऺॕ ोकऺॎ एक पद कॕ बॎच म؄ भॎ ऻॖ। शऻॎ ोशक䰀 कॊ पद उ縃र ऻॖ। ऺऻॎ ोशक䰀
कॊ चयन कर؄।

Manipur : Imphal : : Rajasthan : ?/ मोणपॏर : इॠफॊल : : रॊज㄁थॊन : ?
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Udaipur/ उदयपॏर

Ajmer/ अजमॕर

Jaipur/ जयपॏर

India/ भॊरत

Correct Answer :­Jaipur/ जयपॏर 

2)

Question Stimulus :­

Logical Reasoning

Pointing towards a boy, Sonam said, “He is the son of the only sister of my father”. How
is the boy related to sonam?/ एक लीकॕ कॎ और इषॊरॊ करतॕ ॽए ऺख़नम नॕ कऻॊ, “शऻ मॕरॕ ोपतॊ कॎ इकलग़तॎ
बऻन कॊ बॕटॊ ऻॖ”। लीकॊ, ऺख़नम ऺॕ ोकऺ 넀कॊर  ॠऺबॠोधत ऻॖ?

Nephew/ भतॎजॊ

Son/ पॏ縀

Brother/ भॊई

Cousin/ कोिन

Correct Answer :­Cousin/ कोिन 

3)

Question Stimulus :­

Logical Reasoning

What is the angle traced by hour hand in 20 minutes?/ 20 ोमनट म؄ घॠटॕ कॎ  ॏऺई
ोकतनॊ कख़ण बनॊएगॎ?

20o

10o

25o

75o
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Correct Answer :­10o 

4)

Question Stimulus :­

Logical Reasoning

If day before yesterday was Monday, when will be Saturday?/ योद बॎतॕ ॽए कल कॕ पऻलॊ शॊलॊ
ोदन ऺख़मशॊर थॊ, तख़ षोनशॊर कब ऻख़गॊ?

Tomorrow/ आनॕ शॊलॊ कल

Day after tomorrow/ आनॕ शॊलॕ कल कॕ बॊद शॊलॊ ोदन

Two days after tomorrow/ आनॕ शॊलॕ कल कॕ दख़ ोदन बॊद

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Two days after tomorrow/ आनॕ शॊलॕ कल कॕ दख़ ोदन बॊद 

5)

Question Stimulus :­

Logical Reasoning  

From Parul’s home, she goes to her school which is 10 kms towards north. From there,
she turns right and goes 15 kms. After that she again turns right goes 5 kms and then
turns right and goes 15 kms. Now, how far is she from her starting point?/ पॊॹल अपनॕ घर ऺॕ
꤀ॐ ल जॊतॎ ऻॖ जख़ 10 ोकमॎ उ縃र कॎ ओर ऻॖ। ोफर शऻ शऻॊँ ऺॕ दॊएॠ  मॏीतॎ ऻॖ और 15 ोकमॎ. जॊतॎ ऻॖ। इऺकॕ बॊद शऻ दॊएॠ
मॏीकर 5 ोकमॎ जॊतॎ ऻॖ और ोफर दॊएॠ  मॏीकर 15 ोकमॎ जॊतॎ ऻॖ। अब शऻ अपनॕ 넀ॊरॠ ोभक ोबॠदॏ ऺॕ ोकतनॎ दॐ र ऻॖ?

10 kms

25 kms

15 kms

5 kms

Correct Answer :­5 kms 

6)

Question Stimulus :­

Logical Reasoning
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In the following options, three of them are alike in a certain way and thus form a group.
Which one does not belong to that group?/ ोन가 ोशक䰀ख़ॠ म؄ ऺॕ तॎन एक ोनो洀त तरॎकॕ ऺॕ ऺमॊन ऻ॰ और
इऺोलए एक ऺमॐऻ बनॊतॕ ऻ॰। कग़न­ऺॊ एक, इऺ ऺमॐऻ ऺॕ ऺ눀्輈त नऻॎ ॠ ऻॖ?

Black : 25

Orange : 36

Blue : 12

Magenta : 49

Correct Answer :­Blue : 12 

7)

Question Stimulus :­

Logical Reasoning  

In  the  given  arrangement, which  is  the  4th  letter/digit/symbol  to  the  right  of  the  14th
letter/digit/symbol from right end?/ दॎ गई 戀श㄁थॊ म؄, दॊएँ छख़र ऺॕ 14श؄ अꈀर/अॠक/ोच� कॕ दॊएँ ऺॕ 4थॊ
अꈀर/अॠक/ोच� कग़न ऺॊ ऻॖ?

4 7 I ? J 2 T @ # S 5 P Q % U & X C

#

S

7

@

Correct Answer :­# 

8)

Question Stimulus :­

Logical Reasoning

In a certain code language SHEEPS is written as TGFDQR , MOULDS is
written as NNVKER, then how will ORANGE be written in that code?/ ोकऺॎ
कॐ ट भॊहॊ म؄, SHEEPS कख़ TGFDQR ोलखतॕ ऻ॰ , MOULDS  कख़ NNVKER ोलखतॕ ऻ॰, इऺ कॐ ट
म؄ ORANGE कख़ कॖऺॕ ोलख؄गॕ?

PQBMHD
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PSBOHF

PTDRML

QTCPIG

Correct Answer :­PQBMHD 

9)

Question Stimulus :­

Logical Reasoning

Which of the answer figures is exactly the mirror image of the given figure when the
mirror is held at PQ?/ कग़न ऺॎ उ縃र आक॑ोत पॐण१ ॺप ऺॕ दॎ गयॎ आक॑ोत कॊ दप१ण 넀ोतोब눀 ऻॖ। जब दप१ण PQ
पर रखॊ गयॊ ऻॖ?

Question figure/ 넀眀 आक॑ोत

Answer figure/ उ縃र आक॑ोत

(a)

(b)

(c)

(d)

Correct Answer :­(a) 

10)

Question Stimulus :­

Logical Reasoning

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


What  will  come  in  place  of  the  question  mark  (?)  in  the  following  number  series?  /
ोन가ोल्खत  ॠऺ⌀ॊ 넀णॊलॎ म؄ 넀眀शॊचक ोच� (?) कॕ ㄁थॊन पर 夀ॊ आयॕगॊ?

1, 2, 5, 10, ?, 26, 37

15

12

17

24

Correct Answer :­17 

11)

Question Stimulus :­

Logical Reasoning

If the first and second letters of the word PREPARATIONS were inter­changed, also third
and fourth letter, fifth and sixth letter and so on, then which letter would be ninth from
left end?/ योद षɨ PREPARATIONS म؄ पऻलॕ और दॐऺरॕ अꈀर कख़ आपऺ म؄ बदल ोलयॊ जॊए और इऺॎ तरऻ
तॎऺरॕ और चग़थॕ अꈀर कख़, पॊॠचशॕ और छटश؄ अꈀर कख़ और इऺॎ तरऻ ऺॕ आगॕ, तख़ बॊएॠ  छख़र ऺॕ 9शॊँ अꈀर कग़न ऺॊ ऻख़गॊ ?

O

I

A

T

Correct Answer :­O 

12)

Question Stimulus :­

Logical Reasoning

Three positions of a dice is given. Which is the number opposite to 2?/ एक पॊॠऺॕ कॎ तॎन
्㄁थोतयॊँ दॎ गयॎ ऻ॰। 2 कॕ ोशपरॎत कग़न ऺॊ अॠक ऻख़गॊ?
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1

5

6

4

Correct Answer :­5 

13)

Question Stimulus :­

Logical Reasoning

Seven children A, B, C, D, E, F, G are standing in a queue from top to
bottom. E is at fifth place. Only C is between A and B. G is at bottom. B is
three places after F. What is the position of D from top?/ ऺॊत ब猀ॕ A, B, C, D,
E, F, G एक पॠ्䌀 म؄ ऊपर ऺॕ नॎचॕ  खीॕ ॽए ऻ॰। E पॊॠचशॕ ㄁थॊन पर ऻॖ। कॕशल C, A और B कॕ बॎच म؄
ऻॖ। G ऺबऺॕ नॎचॕ ऻॖ। B, F कॕ तॎन ㄁थॊन पॎछॕ ऻॖ। ऊपर ऺॕ D कॊ ㄁थॊन 夀ॊ ऻख़गॊ?

Fourth/ चग़थॊ

Sixth/ छटशॊँ

Second/ दॐऺरॊ

Last/ अॠोतम

Correct Answer :­Sixth/ छटशॊँ 

14)

Question Stimulus :­

Logical Reasoning

DIRECTIONS/ोनद८ष: In the question below are given two statements followed by two
conclusions numbered I and II. You have to take the given statements to be true even if
they seem to be at variance from commonly known facts. Read both the conclusions and
then decide which of the given conclusions logically follows from the given statements./
नॎचॕ ोदयॕ गए 넀眀 म؄ दख़ कथन और उऺकॕ नॎचॕ दख़ ोन㐀ह१ I और II ोदए गए ऻ॰। आपकख़ ोदए गए कथनख़ ॠ कख़ ऺ球 मॊननॊ
ऻॖ। भलॕ ऻॎ शॕ ऺश१ئجॊत त尋ख़ॠ ऺॕ ोभत 넀तॎत ऻख़। दख़नख़ ॠ ोन㐀हॵ कख़ पोुए और ोफर तय कॎोजए ोक कग़न ऺॊ ोन㐀ह१ ोदए
गए कथनख़ ॠ कॊ तक१   ॠऺगत ॺप ऺॕ अनॏऺरण करतॊ ऻॖ।

 

Statements/कथन:
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All roses are flowers./ ऺभॎ गॏलॊब फॐ ल ऻ॰।

All flowers are trees./ ऺभॎ फॐ ल पॕी ऻ॰।

Conclusions/ोन㐀ह१:

I. All trees are roses./ ऺभॎ पॕी गॏलॊब ऻ॰।

II. Some flowers are roses./ कॏ छ फॐ ल गॏलॊब ऻ॰।

If only Conclusion I follows/ योद कॕशल ोन㐀ह१ I अनॏऺरण करतॊ ऻॖ

If only Conclusion II follows/ योद कॕशल ोन㐀ह१ II अनॏऺरण करतॊ ऻॖ

If either Conclusion I or II follows/ योद यॊ तख़ ोन㐀ह१ I यॊ II अनॏऺरण करतॊ ऻॖ

If both Conclusions I and II follow/ योद दख़नख़ ॠ ोन㐀ह१ I और II अनॏऺरण करतॕ ऻ॰

Correct Answer :­If only Conclusion II follows/ योद कॕशल ोन㐀ह१ II अनॏऺरण करतॊ ऻॖ 

15)

Question Stimulus :­

Logical Reasoning

Out of  the  five  figures  that  follow, you are  to  indicate which  figure will best  represent
the relationship amongst the three classes/ोन가 दॎ गई पॊॠच आक॑ोतयख़ ॠ म؄ ऺॕ उऺ आक॑ोत कख़ चॏोनयॕ, जख़
इन तॎन शगॳ कॕ बॎच ऺ눀輈 कख़ दषॊ१तॊ ऻॖ।

Colours, Yellow, Blue/ रॠग, पॎलॊ, नॎलॊ

(I)

(II)

(III)

(V)
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Correct Answer :­(III) 

Topic:­ General Maths
1)

Question Stimulus :­

Maths

In an examination, a student scores 1 marks for every correct answer and
loses 1/4 marks for every wrong answer. If he attempts in all 70 question
and secures 40 marks, then how many questions he attempted correctly?/
एक परॎꈀॊ म؄ एक छॊ縀 넀त् यॕक ऺऻॎ उत् तर कॕ ोलए 1 अॠक 넀ॊप् त करतॊ ऻॖ और 넀त् यॕक गलत उत् तर कॕ
ोलए 1/4 अॠक कम ोकयॕ जॊतॕ ऻ॰। योद उऺनॕ कॏ ल 70 넀ष् न ऻल ोकए और 40 अॠक 넀ॊप् त ोकयॕ, तख़
उऺनॕ ोकतनॕ 넀ष् न ऺऻॎ ऻल ोकयॕ?

42

46

52

None of these/इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­46 

2)

Question Stimulus :­

Maths

Arrange the fractions  ,  ,  ,   in ascending order./ोभख़ ॠ  ,  ,  ,    कख़ आरख़ऻॎ
ॿम म؄ श् यश्㄁थत कर؄।

 <    <   < 

 <   <  < 

 <   <   < 

None of these/इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­  <   <   <   
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3)

Question Stimulus :­

Maths 

In a forest which has only deer and humans. There are 80 heads and 230
legs. How many humans are there? /एक जॠगल म؄ जऻॊँ कॕशल ोऻरण और मनॏह् य ऻ॰। शऻॊँ
80 ोऺर और 230 पॖर ऻ॰। शऻॊँ ोकतनॕ मनॏह् य ऻ॰?

40

25

35

45

Correct Answer :­45 

4)

Question Stimulus :­

Maths

A salesman bought toffees at 7 for a rupee. How many toffees for a rupee
he must sell to gain 40%?/ एक श् यॊपॊरॎ 1 ॹपयॕ म؄ 7 टॗफॎयॊँ खरॎदतॊ ऻॖ। शऻ 1 ॹपयॕ म؄
ोकतनॎ टॗफॎयॊँ बॕचॕ तॊोक  40% कॊ लॊभ ऻख़?

3

4

5

6

Correct Answer :­5 

5)

Question Stimulus :­

Maths 

A fruit seller had some bananas. He sold 20% bananas and still has 128
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bananas. How many bananas he had initially?/ एक फल ोशॿॕतॊ कॕ पॊऺ कॏ छ कॕलॕ
थॕ। उऺनॕ 20% कॕलॕ बॕच ोदए और ोफर भॎ उऺकॕ पॊऺ 128 कॕलॕ बचॕ ॽए ऻ॰। उऺकॕ पॊऺ षॏॹआत म؄ ोकतनॕ
कॕलॕ थॕ?

156

160

176

None of these/इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­160 

6)

Question Stimulus :­

Maths

At what rate of compound interest per annum will a sum of Rs.1200
become Rs.1323 in 2 years?/ ोकतनॕ 넀ोतषत शॊोह१क चॿश्॑현 ब् यॊज कॎ दर ऺॕ ॹ.1200,
2 शह१ म؄ ॹ.1323 ऻख़ जॊएँगॕ?

6%

4%

5%

None of these/इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­5% 

7)

Question Stimulus :­

Maths

Rajesh and Shakshi are partners in a business. Rajesh invests Rs.35,000
for 8 months and Shakshi invests Rs.42,000 for 10 months. Out of a profit
of Rs.31,570 Rajesh’s share is (in Rupees)./रॊजॕष और ऺॊꈀॎ एक 戀शऺॊय म؄
ऺॊझॕदॊर ऻ॰। रॊजॕष 8 मऻॎनॕ कॕ ोलए ॹ.35000 ोनशॕष करतॊ ऻॖ और ऺॊꈀॎ 10 मऻॎनॕ कॕ ोलए
ॹ.42,000 ोनशॕष करतॎ ऻॖ। कॏ ल लॊभ ॹ.31,570 म؄ रॊजॕष कॊ ोऻऺ् ऺ ॊ (ॹपयॕ म؄) ऻॖ:­

12,628
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14,060

16,162

None of these/इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­12,628 

8)

Question Stimulus :­

Maths

A boy rides his bicycle 10 km at an average speed of 15 km/hr and again
travels 15 km at an average speed of 10 km/hr. His average speed (in
km/hr) for the Entire trip is:/एक लीकॊ 15 ोकमॎ/घॠटॕ कॎ गोत ऺॕ 10 ोकमॎ ऺॊइकल ऺॕ जॊतॊ ऻॖ
और पॏन: 10 ोकमॎ/घॠटॕ कॎ गोत ऺॕ 15 ोकमॎ जॊतॊ ऻॖ। पॐरॎ यॊ縀ॊ कॕ ोलए उऺकॎ औऺत गोत (ोकमॎ/घॠटॕ म؄)
ऻॖ:­

13

7

7

11

Correct Answer :­11  

9)

Question Stimulus :­

Maths

Pavan is twice efficient than Rakesh. If together they finish a piece of
work in 15 days. The number of days taken by Pavan alone to finish the
work is:/पशन कॎ कॊय१ꈀमतॊ रॊकॕष ऺॕ दख़गॏनॎ ऻॖ। योद दख़नख़ ॠ एक ऺॊथ ोकऺॎ कॊम कख़ 15 ोदन म؄
कर ऺकतॕ ऻ॰ तख़ पशन कख़ अकॕलॕ कॊम ऺमॊप् त करनॕ म؄ लगॕ ोदनख़ ॠ कॎ  ॠऺख् यॊ ऻॖ­

10

25
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22

27

Correct Answer :­22  

10)

Question Stimulus :­

Maths 

The average of 5 consecutive even number is 18. Find the largest
number./5 लगॊतॊर ऺम  ॠऺख् यॊओॠ कॊ औऺत 18 ऻॖ। ऺबऺॕ बीॎ  ॠऺख् यॊ ئجॊत कर؄ ।

20

22

24

28

Correct Answer :­22 

11)

Question Stimulus :­

Maths

The speeds of three bus are in the ratio of 2:3:4 respectively .The ratio
between the time taken by them to travel the same distance is:/तॎन बऺख़ ॠ कॎ
गोत कॊ अनॏपॊत ॿमष: 2:3:4 ऻॖ। ऺमॊन दॐ रॎ तय करनॕ म؄ उनकॕ 젊ॊरॊ लगॕ ऺमय कॊ अनॏपॊत ऻॖ:

3:4:6

4:3:2

3:6:4

6:4:3

Correct Answer :­6:4:3 

12)
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12)

Question Stimulus :­

Maths

In what ratio water must be mixed with milk costing Rs.24 per liter to
obtain a mixture worth of Rs.16 per liter?/ॹ.24 넀ोत लॎटर कॕ दॐ ध कॕ ऺॊथ ोकऺ
अनॏपॊत म؄ पॊनॎ ोमलॊयॊ जॊए तॊोक ोम瀀ण कॊ मॐल् य ॹ.16 넀ोत लॎटर ऻख़?

1:2

1:3

2:3

None of these/इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­1:2 

13)

Question Stimulus :­

Maths

10 years ago, saloo was half of Rehan in age. If the ratio of their present
ages is 3:4, what is the present age of saloo (in years)?/10 शह१ पॐश१ षॊलॐ कॎ
आयॏ रॕऻॊन कॎ आयॏ कॎ आधॎ थॎ। योद उनकॎ शत१मॊन आयॏ कॊ अनॏपॊत 3:4 ऻॖ तख़ षॊलॐ कॎ शत१मॊन
आयॏ (शह१ म؄) क् यॊ ऻॖ?

10

15

20

25

Correct Answer :­15 

14)

Question Stimulus :­

Maths 

The probability that a card drawn from a pack of 52 cards will be a king
is:/52 तॊष कॕ पत् तॕ कॎ ग䠁ॎ ऺॕ ोनकॊलॕ गयॕ 1 पत् तॕ कॕ बॊदषॊऻ कॕ पत् तॕ ऻख़नॕ कॎ 넀ॊोयकतॊ ऻख़गॎ:
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1/52

1/26

1/13

1/9

Correct Answer :­1/13 

15)

Question Stimulus :­

Maths

Find the total surface area (in cm2) of a cone of height 24 cm and base diameter
14 cm./24 ऺॕमॎ ऊँचॊई और 14 ऺॕमॎ आधॊर कॕ श् यॊऺ शॊलॕ एक षॠकॏ  कॊ कॏ ल प॑ह् ठ ꈀॕ縀फल (शग१ ऺॕमॎ म؄)
ॊत कर؄ئج ।

704

550

812

None of these/इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­704 

Topic:­ Agriculture­Agronomy
1)

Question Stimulus :­

Who among the following divided the world in 6 Biogeographical regions?/ ोन가 म؄
ऺॕ ोकऺनॕ ोशꈀ कख़ 6 जॎशभॐगख़ोलक ꈀॕ縀ख़ ॠ म؄ बॊॠटॊ ऻॖ?

Charles Darwin/ चॊ✀१ डॊोश१न

Alfred Russel/ अल대ॕड ॺऺल

Lamarck/ लॕमॊक१

Aristotle/ अौर케ख़ल

Correct Answer :­Alfred Russel/ अल대ॕड ॺऺल 
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2)

Question Stimulus :­

The Planning Commission (1985­90) divided the country in how many agro
climatic zones?/ यख़जनॊ आयख़ग(1985­1990) नॕ दॕष कख़ ोकतनॕ क॑ोह१ जलशॊयॏ ꈀॕ縀ख़ ॠ म؄ बॊॠटॊ ऻॖ?

15

20

8

24

Correct Answer :­15 

3)

Question Stimulus :­

Formation of soil is known as­/ म॑दॊ कॊ ोनमॊ१ण कऻलॊतॊ ऻॖ­

Humification/ ऻय्ॏ मॎोफकॕषन

Pedogenesis / पॕडख़जॕनॕोऺऺ

Sedimentation/ तलछट

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Pedogenesis / पॕडख़जॕनॕोऺऺ 

4)

Question Stimulus :­

The smallest 3D volume of a soil needed to give full representation of horizontal
variability of soil is termed as­/ोमट् टॎ कॕ ꈀॖोतज चरख़ ॠ कॕ ऺ글ॐण१ 넀दष१न ऻॕतॏ आश툀क ोम㈁ॎ कॊ
ऺबऺॕ छख़टॊ 3D आयतन कऻलॊतॊ ऻॖ­

Solum/ऺख़लम

Pedon/ पॕडॗन

Gleys/昀ॕय
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Podsol/ पख़डऺख़ल

Correct Answer :­Pedon/ पॕडॗन 

5)

Question Stimulus :­

Total amount of water present in the soil is called­/ म॑दॊ म؄ जल कॎ कॏ ल उप्㄁थत मॊ縀ॊ कख़
夀ॊ कऻतॕ ऻ॰?

Combined water/ ऺ्䀀ोलत जल

Holard/ ऻख़लॊड१

Podsole/ पख़डऺख़ल

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Holard/ ऻख़लॊड१ 

6)

Question Stimulus :­

Deficiency of which element in soil causes chlorosis in plants?/ म॑दॊ म؄ ोकऺ त刋 कॎ
कमॎ कॕ कॊरण पग़धख़ ॠ म؄ ऻरॎमऻॎनतॊ रख़ग ऻख़तॊ ऻॖ?

Iron/ आयरन

Magnesium/ मॖ㤀ॎोषयम

Carbon/ कॊब१न

Sodium/ ऺख़ोडयम

Correct Answer :­Magnesium/ मॖ㤀ॎोषयम 

7)

Question Stimulus :­

The formula for balanced salt solution of mineral elements for plant growth was
given by­/ पग़धख़ ॠ कॎ श्॑현 कॕ ोलए आश툀क खोनज त刋 कॊ  ॠऺतॏोलत लशण घख़ल ोकऺनॕ ोदयॊ?

Knop/ नख़प
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Hoagland/ ऻॗगल॰ड

Watson/ 最ॊटऺन

Hill/ ोऻल

Correct Answer :­Knop/ नख़प 

8)

Question Stimulus :­

Which of the following are critical elements?/ ोन가 म؄ ऺॕ कग़न­ऺॕ नॊजॏक त刋 ऻ॰?

N, P, K

O, N, H

Zn, Fe, Cu

Cl, Fe, H

Correct Answer :­N, P, K 

9)

Question Stimulus :­

Which element is common to nucleic acids, phospholipids, ATP and ADP?/ ोन가 म؄ ऺॕ
कग़न­ऺॊ त刋 䨌ॐकोलक अ耀, फॗ⼀ख़ोलोपड, ATP एशॠ ADP म؄ ऺॊमॊ䨌 ऻॖ?

Ca

B

Zn

P

Correct Answer :­P 

10)

Question Stimulus :­

Which group is required for chlorophyll synthesis?/ कग़न­ऺॊ ऺमॐऻ 贀ख़रख़ोफल  ॠऺ娀ॕहण कॕ
ोलए आश툀क ऻॖ?
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Fe, Mg

Mo, Ca

Cu, Ca

Ca, K

Correct Answer :­Fe, Mg 

11)

Question Stimulus :­

Which element is a part of cytochrome oxidase?/कग़न­ऺॊ त刋 ऺॊइटख़ॿख़म आ쀀ॎडॕज कॊ
भॊग ऻॖ?

Mg

Fe

Mo

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Fe 

12)

Question Stimulus :­

In an average well decomposed FYM(Farmyard manure) contains­/ पॐण१ अपघोटत
FYM(फॊम१यॊड१ खॊद) म؄ षॊोमल ऻख़तॊ ऻॖ­

0.5% N2

0.2% P2O5

0.5% K2O

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

13)
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Question Stimulus :­

Which of the following contains highest nutrients?/ ोन가 मॕ ऺॕ ोकऺ म؄ उ猀 पख़हक ऻख़तॕ ऻ॰?

FYM

Compost/ क글ख़케

Droppings of sheep & goat/ भॕड एशॠ बकरॎ कॕ मल म؄

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Droppings of sheep & goat/ भॕड एशॠ बकरॎ कॕ मल म؄ 

14)

Question Stimulus :­

What is the drawback of poultry manure?/मॏगЄ खॊद म؄ 夀ॊ कमॎ ऻख़तॎ ऻॖ?

It ferments very quickly/ यऻ ज䠀ॎ ोक⠁क ऻख़तॊ ऻॖ

It has less nutrient content/ इऺम؄ पख़हक कम ऻख़तॊ ऻॖ

It smells badly/ इऺ ऺॕ गॠध आतॎ ऻॖ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­It ferments very quickly/ यऻ ज䠀ॎ ोक⠁क ऻख़तॊ ऻॖ 

15)

Question Stimulus :­

Trench method of FYM preparation is also known as­/ FYM कख़ तॖयॊर करनॕ कॎ
ट३ ؄च ोशोध कख़ ____ भॎ कऻॊ जॊतॊ ऻॖ।

Pit method/ ोपट ोशोध

Dr. C. N. Acharya method/ डॗ. ऺॎ.एन.आचॊय१ ोशोध

Heap method/ ऻॎप ोशोध

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Dr. C. N. Acharya method/ डॗ. ऺॎ.एन.आचॊय१ ोशोध 
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16)

Question Stimulus :­

Which of the following is suitable method for application of FYM?/ ोन가 म؄ ऺॕ कग़न­ऺॎ
ोशोध, FYM कॕ उपयख़ग कॕ ोलए उपयॏ䌀 ऻॖ?

Foliar/ फख़ोलयर

To Mix with seeds/ बॎज कॕ ऺॊथ ोमलॊनॊ

To spread uniformly on the surface of soil / एक ऺमॊन म॑दॊ कॎ ऺतऻ पर फॖलॊनॊ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­To spread uniformly on the surface of soil / एक ऺमॊन म॑दॊ कॎ ऺतऻ
पर फॖलॊनॊ 

17)

Question Stimulus :­

The system of composting is­/ क글ख़्케ॠग कॊ तॠ縀 ऻॖ­

Activated compost process/ ऺोॿय क글ख़케 ोशोध

Indoor method/ अॠतरॠग ोशोध

Bangalore method/ ब॰गलख़र ोशोध

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

18)

Question Stimulus :­

Which is the most important green manure crop?/ ऺबऺॕ मऻ刋पॐण१ ऻरॎ खॊद फऺल कग़न­ऺॎ
ऻॖ?

Sunhemp/ ऺनऻॕ글

Dhaincha / ढ؄चॊ

Pillipesara/ ोपलॎपॕऺॊरॊ
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All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

19)

Question Stimulus :­

Which of the following is not a straight fertilizer?/ ोन가 म؄ ऺॕ कग़न­ ऺॊ ऺॎधॊ उश१रक नऻॎ ॠ ऻॖ?

Nitrogen fertilizer/ नॊइट३ ख़जन उश१रक

Phosphate fertilizer/ फॊ⼀ॕट उश१रक

FYM

Potash fertilizer/ पख़टॖष उश१रक

Correct Answer :­FYM 

20)

Question Stimulus :­

Muriate of potash is­/ पख़टॊष कॊ 怀ॐौरएट ऻॖ­

K2SO4

(K2SO4. MgSO4) 6H2O

KNO3

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­K2SO4 

21)

Question Stimulus :­

Which of the following is not a Nitrogenous fertilizer?/ ोन가 म؄ ऺॕ कग़न नॊइट३ ख़जन उश१रक
नऻॎ ॠ ऻॖ?

Ammonium chloride/ अमख़ोनयम 贀ख़रॊइड

Anhydrous ammonia/ एनऻॊइड३ ऺ अमख़ोनयॊ
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Calcium cyanamide/ कॖ्ꠠषयम ऺॊइनॊमॊइड

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

22)

Question Stimulus :­

NPK Composition of standard fertilizer mixture for potato and Paddy is­/ आलॐ एशॠ
धॊन कॕ मॊनक उश१रक ोम瀀ण कॊ NPK  ॠऺघटक ऻॖ­

4,4,4

6,24,6

6,12,6

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­6,12,6 

23)

Question Stimulus :­

Which commercial fertilizer contains Mg & Ca as secondary nutrients?/कग़न­ऺॕ
戀ॊपॊौरक उश१रक म؄ Mg एशॠ Ca ो쐊तॎय पख़हक कॕ ॺप म؄ षॊोमल ऻख़तॕ ऻ॰?

Epsum/ इम

Gypsum/ ोजम

Both Epsum & Gypsum/ इम एशॠ ोजम दख़नख़ ॠ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both Epsum & Gypsum/ इम एशॠ ोजम दख़नख़ ॠ 

24)

Question Stimulus :­

Application of manures and fertilizers to the established crop within crop duration
is termed as­/ ㄁थॊोपत फऺल म؄, फऺल अशोध कॕ अॠतग१त खॊद और उश१रक कॊ 넀यख़ग कऻलॊतॊ ऻॖ­
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Basal dressing/ ोनचलॎ ऺतऻ

Top dressing/ ऊपरॎ ऺतऻ

Both the above/ उपरख़䌀 दख़नख़ ॠ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Top dressing/ ऊपरॎ ऺतऻ 

25)

Question Stimulus :­

Which of the following is a slow release fertilizer?/ ोन가 म؄ कग़न­ऺॊ धॎरॕ ोनकलनॕ शॊलॊ
उश१रक ऻॖ?

Neem coated urea/ नॎम कख़टॕड यॐौरयॊ

N­serve/ N­ ऺश१

Thio urea/ थॊयख़ यॐौरयॊ

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

26)

Question Stimulus :­

The higher the fertility of soil, the­/ म॑दॊ कॎ उश१रतॊ ोजतनॎ उ猀 ऻख़तॎ ऻॖ, उतनॎ­

Lower is the response to fertilizers/ कम उश१रक पर 넀ोतोॿयॊ ऻख़तॎ ऻॖ

Higher is the response to fertilizers/ उ猀 उश१रक पर 넀ोतोॿयॊ ऻख़तॎ ऻॖ

There is no response/ कख़ई 넀ोतोॿयॊ नऻॎ ॠ ऻख़तॎ ऻॖ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Lower is the response to fertilizers/ कम उश१रक पर 넀ोतोॿयॊ ऻख़तॎ ऻॖ 

27)

Question Stimulus :­
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Reduction in weeds causes­/ खरपतशॊर कॎ कमॎ ऺॕ­

Reduction in land value/ भॐोम कॎ ꈀमतॊ कम ऻख़तॎ ऻॖ

Reduction in crop yield/ फऺल उ餃ॊदकतॊ कम ऻख़तॎ ऻॖ

Loss in crop quality/ फऺल कॎ गॏणश縃ॊ कम ऻख़तॎ ऻॖ

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

28)

Question Stimulus :­

Thousands of hectare of cultivable land has been abandoned due to infestation
of­/ ोकऺकॕ 넀कख़प कॕ कॊरण, ऻजॊर ऻॕ픀यर क॑ोह यख़戀 भॐोम कख़ छख़ड ोदयॊ गयॊ?

Cyprus rotundus /ोऺपरऺ रख़टॏॠडऺ

Parthenium/ पॊथЄोनयम

Eichhornia crassipes / आयकख़ोन१आ ॿॊोऺ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Cyprus rotundus /ोऺपरऺ रख़टॏॠडऺ 

29)

Question Stimulus :­

Which of the following weed is used as a green vegetable?/ ोन가 म؄ ऺॕ कग़न­ऺॎ
खरपतशॊर कख़ ऻरॎ ऺɥॎ कॕ ॺप म؄ उपयख़ग करतॕ ऻ॰?

Amaranthus viridis/ अमॕर॰थऺ ोशौरडॎऺ

Panicum repense/ पॕनॎकम ौरप؄ऺ

Both the above/ उपरख़䌀 दख़नख़ ॠ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Amaranthus viridis/ अमॕर॰थऺ ोशौरडॎऺ 

30)
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30)

Question Stimulus :­

Which of the followings weed is indicator of poor light soil?/ ोन가 म؄ ऺॕ कग़न­ऺॎ
खरपतशॊर कमजख़र ऻ᐀ॎ म॑दॊ कॊ  ॐऺचक ऻॖ?

E. Colonum/ इ. कख़लख़नम

Cymbopogon/ ोऺ눀ख़पख़गन

Both the above/ उपरख़䌀 दख़नख़ ॠ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Cymbopogon/ ोऺ눀ख़पख़गन 

31)

Question Stimulus :­

Heavy infestation of which of the following causes poor ploughing performance­/
ोन가 म؄ ऺॕ ोकऺ कॊ भॊरॎ 넀कख़प कमजख़र जॏतॊई कॊ कॊरण बनतॊ ऻॖ?

E. Colonum/ ई. कख़लख़नम

Cyprus rotundus /ोऺपरऺ रख़टॏॠडऺ

Cynodon dactylon/ कॊयनख़डन डॖकोटलॗन

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Cynodon dactylon/ कॊयनख़डन डॖकोटलॗन 

32)

Question Stimulus :­

Based on morphology, the weed is classified into­/ आकॊौरकॎ कॕ आधॊर पर,
खरपतशॊर कख़ ____ म؄ शगЄक॑त ोकयॊ गयॊ ऻॖ।

Grass/ घॊऺ

Sedge/ ऺॕज

Broad leaved weeds/ चग़ीॎ पो縃यख़ ॠ शॊलॎ खरपतशॊर

All of these/ उपरख़䌀 ऺभॎ
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Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

33)

Question Stimulus :­

Examples of broad leaved weed is­/ चग़ीॎ प縃ॎ खरपतशॊर कॊ उदॊऻरण ऻॖ­

Flavaria australacica/ �ॕशॕौरयॊ ऑ케३ॕलॕोऺकॊ

Digeria arvensis/ डॊइजॕौरयॊ अश८नोऺऺ

Abutilon indicum/ एɯॐोटलन इॠडॎकम

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

34)

Question Stimulus :­

Which of the following is not a indigenous weed?/ ोन가 म؄ ऺॕ कग़न, 耀दॕषॎ खरपतशॊर नऻॎ ॠ
ऻॖ?

A. indica/ ए.इॠोडकॊ

A. indicum/ ए.इॠडॎकम

P. hysterophorus/ पॎ.ोऻ케ॕरख़ूख़रऺ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­P. hysterophorus/ पॎ.ोऻ케ॕरख़ूख़रऺ 

35)

Question Stimulus :­

Total root parasite on tobacco is­/ तॠबॊकॐ  कॊ जी परजॎशॎ ऻॖ­

Parthenium/ पॊरधॎोनयम

O. Cermua/ ओ.ऺॕरमॏआ

D. Stramonium/ डॎ. 케३ॕमख़ोनयम
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W. Somnifera/ डɰॐ. ऺख़मनॎफॕरॊ

Correct Answer :­O. Cermua/ ओ.ऺॕरमॏआ 

36)

Question Stimulus :­

Eichhornia crassipes is­/ आयकख़ोन१आ ॿॊोऺ ऻॖ­

Submerged weed/ जलम㤀 खरपतशॊर

Marginal weed/ ोकनॊरॊ  ॠऺबॠधॎ खरपतशॊर

Floating weed/ तॖरनॕ शॊलॎ खरपतशॊर

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Floating weed/ तॖरनॕ शॊलॎ खरपतशॊर 

37)

Question Stimulus :­

Zygogramma bicolorata beetle feed on leaves of­/ िॊईगख़鄀ॊम बॊईकॗलख़रॕट कॎट  ___ कॕ
प縃ख़ ॠ पर भख़जन करतॕ ऻ॰।

Water hyacinth/ जलकॏॠ भॎ

Parthenium/ पॊोथ१ोनयम

Lantana/ ल؄टॊनॊ

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Parthenium/ पॊोथ१ोनयम 

38)

Question Stimulus :­

Phytophthora palmivora causes root rot in­ / फॊयटॗफथख़रॊ प्吀शख़रॊ, ____ म؄ जी
गलन कॊ कॊरण ऻख़तॊ ऻॖ।

Morrenia Odorata/ मख़रॕोनयॊ ओडख़रॕटॊ

A. Virginica/ ए. शजЄोनकॊ
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S. Halepense/ एऺ.ऻॕलॕप؄ऺ

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Morrenia Odorata/ मख़रॕोनयॊ ओडख़रॕटॊ 

39)

Question Stimulus :­

Application of volatile chemical on confined spaces to produce gas that will
destroy weed seeds is called­/ गॖऺ उ餃 करनॕ ऻॕतॏ, ऺॎोमत ㄁थॊन पर अ्㄁थर रऺॊयन कॊ 넀यख़ग
खरपतशॊर कॕ बॎज कख़ नʼ कर दॕगॊ, इऺॕ कऻतॕ ऻ॰­

Fumigation/ ɡॐमॎगॕषन

Herbigation/ ऻरबॎगॕषन

Band application/ ब॰ड ए儐ॎकॕष

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Fumigation/ ɡॐमॎगॕषन 

40)

Question Stimulus :­

A herbicide which kills some species in a mixed growth plant species are termed
as­/ एक त॑णनॊषक जख़ ोक ोमो瀀त ोशकोऺत 넀जॊतॎय पग़धॕ म؄ ऺॕ कॏ छ 넀जॊोतयख़ ॠ कख़ मॊरतॊ ऻॖ, उऺॕ कऻॊ जॊतॊ
ऻॖ­

Selective herbicides/ ोऺलॕ्픀श त॑णनॊषक

Non­selective/ नॗन ोऺलॕ्픀श

Contact/  ॠऺपक१

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Selective herbicides/ ोऺलॕ्픀श त॑णनॊषक 

41)

Question Stimulus :­

Which of the following is long period residual?/ ोन가 म؄ ऺॕ कग़न लॠबॕ ऺमय तक रऻनॕ शॊलॊ
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त॑णनॊषक ऻॖ?

Anilofos/ एोनलख़फॗऺ

Atrazine/ एट३ ॊोजन

2,4­D sodium salt/ 2,4­D ऺख़ोडयम लशण

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Atrazine/ एट३ ॊोजन 

42)

Question Stimulus :­

Compounds used for protecting crop plants, which are susceptible to some
herbicides are called as­/ शऻ ऺयॏ䌀 पदॊथ१ जख़ फऺल पग़धख़ ॠ कॎ रꈀॊ करतॊ ऻॖ, शऻ ोजऺ त॑णनॊषक कॕ
ोलयॕ अोत ॠऺशॕदन षॎल ऻख़तॊ ऻॖ कऻलॊतॊ ऻॖ­

Safeners/ ऺॕफनर

Protectants/ 넀ख़टॕ픀؄ऺ

Both the above/ उपरख़䌀 दख़नख़ ॠ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above/ उपरख़䌀 दख़नख़ ॠ 

43)

Question Stimulus :­

“Paraquat spray” can be inactivated by spraying­/ ‘‘पॖरॊ萀ॕट ㄀ॕ” ोकऺ ㄀ॕ 젊ॊरॊ ोन्쀀य
ऻख़तॊ ऻॖ?

1% ferric chloride/ 1% फॕौरक 贀ख़रॊइड

1% CaCl2

1% NaCl

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­1% ferric chloride/ 1% फॕौरक 贀ख़रॊइड 
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44)

Question Stimulus :­

Compounds which aid the herbicide availability at the action site in plants are
called­/ यग़ोगक, जख़ पग़धख़ ॠ म؄ ऺोॿय ㄁थल पर त॑णनॊषक उपलȀतॊ म؄ ऺऻॊयतॊ करतॕ ऻ॰, कऻलॊतॕ ऻ॰­

Adjuvant/  ॠऺयॏ䌀

Acetone/ एऺॎटख़न

Antibody/ एॠ टॎबॗडॎ

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Adjuvant/  ॠऺयॏ䌀 

45)

Question Stimulus :­

Which of the following thickening agents are used with herbicides?/ोन가 म؄
ऺॕ कग़न­ऺॊ  गॊुॊ करनॕ शॊलॊ पदॊथ१ त॑णनॊषक कॕ ॺप मॕ उपयख़ग ऻख़तॊ ऻॖ?

Benzene/ ब؄जॎन

Acetone/ एऺॎटख़न

2, 4­D

Sodium alginate/ ऺख़ोडयम एलगॎनॕट

Correct Answer :­Sodium alginate/ ऺख़ोडयम एलगॎनॕट 

46)

Question Stimulus :­

When the resistant plant posses two or more distinct resistance mechanism to a
single or groups of herbicides is termed as­/ जब 넀ोतरख़ध  ॠऺयॠ縀 एक एकल त॑णनॊषॎ यॊ
त॑णनॊोषयख़ ॠ कॕ ऺमॐऻख़ ॠ कॕ ोलए दख़ यॊ अोधक ोशोषʼ 넀ोतरख़ध तॠ縀 पॊौरत करतॊ ऻॖ, तख़ इऺॕ कऻॊ जॊतॊ ऻॖ­

Grass resistance/ खरपतशॊर 넀ोतरख़धक

Multiple resistance/ दख़ यॊ अोधक 넀ोतरख़धक
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Both the above/ उपरख़䌀 दख़नख़ ॠ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Multiple resistance/ दख़ यॊ अोधक 넀ोतरख़धक 

47)

Question Stimulus :­

Which of the common crop rotation under irrigated fields condition of Coimbatore
district?/ कख़यॠमबटॐ र ोजलॕ कॎ ो ॠऺोचत भॐोम 戀श㄁थॊ म؄ इनम؄ ऺॕ कग़न­ऺॊ ऺॊमॊ䨌 फऺल चॿ ऻॖ?

Ragi­Cotton­Sorghum/ रॊगॎ­कपॊऺ­ऺग़रगम

Rice­cotton/ चॊशल­कपॊऺ

Wheat­Rice­Wheat/ गॕॾँ­चॊशल­गॕॾँ

Rice­Peas­Moong/ चॊशल­मटर­मॐँग

Correct Answer :­Ragi­Cotton­Sorghum/ रॊगॎ­कपॊऺ­ऺग़रगम 

48)

Question Stimulus :­

Which of the following is a fumigant herbicide?/ ोन가 म؄ ऺॕ कग़न­ऺॊ ɡॐमॎग؄ट(धॐमॎकरण)
त॑णनॊषक ऻॖ?

Methyl bromide/ ोमथॊइल 耀ख़मॊइड

Methane/ मॎथॕन

Both the above/ उपरख़䌀 दख़नख़ ॠ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above/ उपरख़䌀 दख़नख़ ॠ 

49)

Question Stimulus :­

Foliage applied herbicide in­/ पो縃यख़ ॠ म؄ त॑णनॊषक कॊ उपयख़ग ऻख़तॊ ऻॖ­

Glyphosphate/ 昀ॊइफॊ⼀ॕट म؄
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Nitralin/ नॊइट३ ॕोलन म؄

Methane/ मॎथॕन म؄

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Glyphosphate/ 昀ॊइफॊ⼀ॕट म؄ 

50)

Question Stimulus :­

Water content of apical portion of roots and shoots is­/ जीख़ ॠ और टऻनॎ कॕ ोषखर भॊग म؄,
जल कॎ मॊ縀ॊ ऻख़तॎ ऻॖ­

50%

>90%

<70%

<20%

Correct Answer :­>90% 

51)

Question Stimulus :­

Majority of rainfall in India is contributed by­/ भॊरत म؄ शहॊ१ कॊ अोधकतम यख़गदॊन
____ ऺॕ ऻख़तॊ ऻॖ।

South west monsoon/ दोꈀण पो洀म मॊन ॐऺन

North east monsoon/ उ縃र पॐशЄ मॊन ॐऺन

Pre monsoon rain/ पॐश१ मॊन ॐऺन शहॊ१

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­South west monsoon/ दोꈀण पो洀म मॊन ॐऺन 

52)

Question Stimulus :­

The methods adopted to measure the evapotranspiration is­/ शॊ萀न उ吋ज१न मॊपन कॕ
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ोलयॕ कग़न­ऺॎ ोशोध अपनॊई गई ऻॖ?

Lysimeter experiment/ लॊइऺॎमॎटर 넀यख़ग

Auxanometer/ ऑ쀀ॕनख़मॎटर

Barometer/ बॕरख़मॎटर

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Lysimeter experiment/ लॊइऺॎमॎटर 넀यख़ग 

53)

Question Stimulus :­

Losses of water includes­/ जल कॎ ऻॊोन म؄ ऺमॊशॕष ऻॖ?

Surface run off/ ऺतऻ ऺॕ पॊनॎ ोनकलनॕ कॊ

Transpiration/ शॊ萀ख़吋ज१नकॊ

Evaporation from soil surface/ म॑दॊ कॎ ऺतऻ ऺॕ शॊ萀ॎकरण कॊ

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

54)

Question Stimulus :­

Factor affecting water requirements is­/ जल कॎ आश툀कतॊ कख़ 넀भॊोशत करनॕ शॊलॊ कॊरक
ऻॖ­

Crop factors/ फऺल कॊरक

Soil factors/ म॑दॊ कॊरक

Climatic factors/ मग़ऺमॎ कॊरक

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

55)
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Question Stimulus :­

Check basin method of irrigation is also known as­/ ोऺचॊई कॎ चॕक बॕोऺन ोशोध कख़ इऺ
नॊम ऺॕ भॎ जॊनॊ जॊतॊ ऻॖ­

Beds and channel method/ बॕड्ऺ एशॠ चॖनल ोशोध

Graded border/ 鄀ॕडॕड(瀀ॕणॎब현) बॗड१र

Level borders/ लॕशल(餀र) बॗड१र

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Beds and channel method/ बॕड्ऺ एशॠ चॖनल ोशोध 

56)

Question Stimulus :­

Which method of irrigation is suitable for orchard crops?/ ऑोक१ ड फऺल कॕ ोलयॕ ो ॠऺचॊई
कॎ कग़न­ऺॎ ोशोध उपयॏ䌀 ऻॖ?

Basin method/ बॕोऺन ोशोध

Ring basin method/ ौरॠग बॕोऺन ोशोध

Furrow method/ फरख़ ोशोध

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Ring basin method/ ौरॠग बॕोऺन ोशोध 

57)

Question Stimulus :­

Which of the following is a type of sprinkler­/ ोन가 म؄ ऺॕ कग़न­ऺॊ ्㄀ॠकलर कॊ एक 넀कॊर ऻॖ?

Rotation head system/ रख़टॕषन ऻॕड तॠ縀

Perforated pipe system/ परफख़रॕ टॕड पॊइप तॠ縀

Both the above/ उपरख़䌀 दख़नख़ ॠ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above/ उपरख़䌀 दख़नख़ ॠ 
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58)

Question Stimulus :­

Average rate of application of water to crop is called as­/ फऺल म؄ पॊनॎ कॕ उपयख़ग कॎ
औऺत दर 夀ॊ कऻलॊतॎ ऻॖ?

Moisture content/ आ꬀१तॊ अशयश

Precipitation intensity/ अशꈀॕपण तॎ倀तॊ

Water index/ जल  ॐऺचकॊॠक

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Precipitation intensity/ अशꈀॕपण तॎ倀तॊ 

59)

Question Stimulus :­

Water spread area of a sprinkler is given by equation/ ्㄀कॠ लर 젊ॊरॊ जल कॎ
फॖलॊश ऺतऻ, इऺ ऺमॎकरण 젊ॊरॊ दॎ जॊ ऺकतॎ ऻॖ­

(where, R = Radius of wetted area (m)/ जऻॊँ, R = नम ऺतऻ(m) कॎ ो縀ॊ

d = diameter of nozzle/ d = नख़जॕल कॊ 戀ॊऺ  

h = pressure head at nozzle/ h = नख़जॕल कॊ दबॊश षॎह१)

R = 

R = dh

R = 1.35 

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­R = 1.35   

60)

Question Stimulus :­

Drip irrigation is also known as­/ ोड३ प ो ॠऺचॊई ______ कॕ ॺप म؄ भॎ जॊनॎ जॊतॎ ऻॖ?
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Trickle irrigation system/ ोट३कल ो ॠऺचॊई त縀ॠ

Line source irrigation/ लॊइन 鼀ख़त ो ॠऺचॊई

Both the above/ उपरख़䌀 दख़नख़ ॠ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above/ उपरख़䌀 दख़नख़ ॠ 

61)

Question Stimulus :­

Which of the following is a system of drainage?/ ोन가 म؄ ऺॕ कग़न­ऺॊ ोनकॊऺॎ कॊ एक त縀ॠ ऻॖ?

Herringbone/ ऻॕौरॠगबख़न

Gridiron/ ो鄀ोडरॗन

Interceptor/ इॠटरऺॕर

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

62)

Question Stimulus :­

In flaccid cell, the pressure potential is­/ ोषोथल कख़ोषकॊओॠ म؄ ोशभश दॊश ऻख़तॊ ऻॖॡ­

Zero/ षॐ䨌

­10

­20

­1

Correct Answer :­Zero/ षॐ䨌 

63)

Question Stimulus :­

Which of the following helps plant in reducing epidermal transpiration?/ ोन가 म؄ ऺॕ
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कग़न ऺतऻॎ शॊ萀ख़吋ज१नकख़ कम करनॕ म؄ पग़धख़ ॠ कॊ ऺऻॊयक ऻॖ?

Cutin/ 夀ॏोटन

Cuticle/ 夀ॏटॎकल

Cholesterol/ कख़लॕऺट३ ॗल

Cutin and Cuticle Both/ 夀ॏोटन एशॠ 夀ॏटॎकल दख़नख़ ॠ

Correct Answer :­Cutin and Cuticle Both/ 夀ॏोटन एशॠ 夀ॏटॎकल दख़नख़ ॠ 

64)

Question Stimulus :­

Which bacterium is responsible for denitrification in N2 cycle?/ ोन가 म؄ ऺॕ कग़न­ऺॊ
जॎशॊणॏ नॊइट३ ख़जन चॿ म؄ ोडनॊइोट३करण करतॊ ऻॖ?

Nitrobactor/ नॊइट३ ख़बॖ픀र

Nitrosomones/ नॊइट३ ख़ऺख़मख़팅

Rhizobium/ रॊइजख़ोबयम

Bacillus subtilis/ बॕोऺलऺ ऺबोटोलऺ

Correct Answer :­Bacillus subtilis/ बॕोऺलऺ ऺबोटोलऺ 

65)

Question Stimulus :­

There is decrease in the rate of transpiration due to­/ शॊ萀ख़吋ज१न कॎ दर कम ऻख़तॎ ऻॖ­

Sunken stomata/ धॠऺ ॕ ॽए र관ख़ ॠ कॕ कॊरण

Thick cuticle stomata/मख़टॎ ोभ縃ॎ कॕ रॠ관ख़ कॕ कॊरण

Waxy coating/ मख़म कॎ परत कॕ कॊरण

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

66)
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Question Stimulus :­

To explain ascent of sap in plants, Sir J.C.Bose(1923) proposed­/ पग़धख़ ॠ म؄ रऺॊरख़ऻण कॎ
ोॿयॊ कख़ ऺर जॕ.ऺॎ. बख़ऺ नॕ 넀餀ॏत ोकयॊ­

Vital theory/ शॊइटल(मऻ刋पॐण१) ोऺ현ॊॠत ऺॕ

Physical force theory/ षॊरॎौरक बल ोऺ현ॊॠत ऺॕ

Root pressure theory/ जी दबॊश ोऺ현ॊॠत ऺॕ

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Vital theory/ शॊइटल(मऻ刋पॐण१) ोऺ현ॊॠत ऺॕ 

67)

Question Stimulus :­

What is the effect of atmospheric pressure on transpiration?/ शॊ萀ख़吋ज१न पर
शॊयॏमॠडलॎय दॊब कॊ 夀ॊ 넀भॊश पीतॊ ऻॖ?

No effect/ कख़ई 넀भॊश नऻॎ ॠ

It increase slowly/ धॎरॕ­धॎरॕ बढतॊ ऻॖ

It decreases fast/ ज䠀ॎ घटतॊ ऻॖ

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­It increase slowly/ धॎरॕ­धॎरॕ बढतॊ ऻॖ 

68)

Question Stimulus :­

Maximum density of water is at­/ पॊनॎ कॊ अोधकतम घन刋 ऻख़तॊ ऻॖ­

100oC/100oC पर

0oC /0oC पर

4oC/4oC पर

62oC/62oC पर
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Correct Answer :­4oC/4oC पर 

69)

Question Stimulus :­

Water absorption through roots increases when­/ जल अशषख़हण जीख़ ॠ 젊ॊरॊ बुतॊ ऻॖ, जब­

Salt absorption is less/ लशण अशषख़हण कम ऻख़तॊ ऻॖ

Rate of photosynthesis increases/ 넀कॊष  ॠऺ娀ॕहण कॎ दर बु जॊतॎ ऻॖ

Transpiration increases/ शॊ萀ख़吋ज१न बु़तॊ ऻॖ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Transpiration increases/ शॊ萀ख़吋ज१न बु़तॊ ऻॖ 

70)

Question Stimulus :­

Which of the following crop does not belong to solanaceae?/ ोन가 म؄ ऺॕ कग़न­ऺॎ फऺल
ऺख़लॕनॕऺॎ कॕ अॠतग१त नऻॎ ॠ आतॎ ऻॖ?

Potato/ आलॐ

Tobacco/ तॠबॊकॐ

Brinjal/ ब॰गन

Sugar beet/ मॎठॕ चॏक़ॠ दर

Correct Answer :­Sugar beet/ मॎठॕ चॏक़ॠ दर 

71)

Question Stimulus :­

Which of the following are food adjustments?/ ोन가 म؄ ऺॕ कग़न खॊ쐊 ऺऻॊयक ऻ॰?

Turmeric/ ऻ䠀ॎ

Garlic/ लऻ ॏऺन

Cumin/ जॎरॊ
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All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

72)

Question Stimulus :­

Which of the following are major mullets?/ ोन가 म؄ ऺॕ कग़न­ ऺॊ 넀मॏख मख़टॊ अनॊज ऻॖ?

Sorghum, Ragi/ ऺख़रगम, रॊगॎ

Mustard, Cotton/ ऺरऺख़ ॠ, कपॊऺ

Kodo Millet/ कख़डख़ बॊजरॊ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Sorghum, Ragi/ ऺख़रगम, रॊगॎ 

73)

Question Stimulus :­

South western monsoon crops are also knows as­/ दोꈀण पो洀मॎ मॊन ॐऺन कॎ फऺलख़ॠ कख़
कऻॊ जॊतॊ ऻॖ­

Rabi/ रबॎ

Zaid/ जॕड

Kharif/ खरॎफ

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Kharif/ खरॎफ 

74)

Question Stimulus :­

Which crop is suitable to silty loam soil?/ गॊदयॏ䌀 दख़मट म॑दॊ कॕ ोलयॕ कग़न­ऺॎ फऺल उपयॏ䌀
ऻॖ?

Jute/ जॐट

Sugarcane/ गॊ
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Maize/ मᬀॊ

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

75)

Question Stimulus :­

Which is the frost tolerant crop?/ तॏहॊर ऺऻन करनॕ शॊलॎ फऺल कग़न­ऺॎ ऻॖ?

Sugar beet/ चॏकॠ दर

Bajra/ बॊजरॊ

Chik Pea/ चनॊ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Sugar beet/ चॏकॠ दर 

76)

Question Stimulus :­

Which is drought tolerant crop?/  ॐऺखॊ ऺऻन करनॕ शॊलॎ फऺल कग़न­ऺॎ ऻॖ?

Bajra/ बॊजरॊ

Jowar/ ခॊर

Mustard/ ऺरऺख़ ॠ

Bajra and Jowar both/ बॊजरॊ एशॠ ခॊर दख़नख़ ॠ

Correct Answer :­Bajra and Jowar both/ बॊजरॊ एशॠ ခॊर दख़नख़ ॠ 

77)

Question Stimulus :­

Which is very long duration crop(above 150 days)?/ लॠबॎ अशोध(150 ोदनख़ ॠ ऺॕ ऊपर) शॊलॎ
फऺल कग़न­ऺॎ ऻॖ?

Sugarcane/ गॊ
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Red gram/ अरऻर

Sunflower/  ॐऺरजमॏखॎ

Sugarcane and Sunflower both/ गॊ एशॠ  ॐऺरजमॏखॎ दख़नख़ ॠ

Correct Answer :­Sugarcane and Sunflower both/ गॊ एशॠ  ॐऺरजमॏखॎ दख़नख़ ॠ 

78)

Question Stimulus :­

Crop plants which protect soil surface from erosion are called as­/ फऺलॎय पग़धॕ जख़
म॑दॊ ऺतऻ कख़ कटॊश ऺॕ  ॏऺरोꈀत करतॕ ऻ॰, कऻलॊतॕ ऻ॰­

Nurse crops/ न १ऺ फऺल

Cover crops/ आशरण फऺल

Trap crops/ट३ ॖप फऺल

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Cover crops/ आशरण फऺल 

79)

Question Stimulus :­

Those crop plants which help to protect and prevent another crop from
trespassing are called as­/ ोन가 म؄ ऺॕ कग़न­ऺॕ फऺल पग़धॕ ऻ॰, जख़ फऺल कख़  ॏऺरोꈀत एशॠ दॐऺरॎ फऺल
कॕ अोतॿमण ऺॕ रख़कतॕ ऻ॰?

Nurse crops/ न १ऺ फऺल

Trap crops/ ट३ ॖप फऺल

Barrier crops/ बॖौरयर फऺल

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Barrier crops/ बॖौरयर फऺल 

80)

Question Stimulus :­
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Morphological adaptation of crops include­/ फऺल कॕ ॺपॊ갃क अनॏकॐ लन म؄ 夀ॊ­夀ॊ षॊोमल
रऻतॊ ऻॖ?

Growth habit/ ोशकॊऺ कॎ आदत

Strength of stalk/ डॠठल कॎ ष्䌀

Rhizomes/ रॊइजख़

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

81)

Question Stimulus :­

How many principles are there for plant distribution ?/ पग़धॕ कॕ ोशभॊजन कॕ ोलए ोकतनॕ
ोऺ현ॊॠत ऻख़तॕ ऻ॰ ?

2

4

8

16

Correct Answer :­8 

82)

Question Stimulus :­

Red soil is best for the cultivation of­/ लॊल म॑दॊ ोकऺकॎ खॕतॎ कॕ ोलए ऺबऺॕ अ稀ॎ ऻख़तॎ ऻॖ?

Sorghum/ ऺग़रगम

Red gram/ लॊल चनॊ

Groundnut/ मॐॠगफलॎ

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 
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83)

Question Stimulus :­

Injury caused by high temperature on the sides of bark is known as­/ अोधकतम
तॊपमॊन कॎ शजऻ ऺॕ छॊल कॕ पꈀ म؄ जख़ ꈀोत ऻख़तॎ ऻॖ, उऺॕ कऻतॕ ऻ॰­

Stem girdle/ तनॕ कॎ करधनॎ

Sun sclad/  ॐऺय१ ㄁贀ॕड

Both the above/ उपरख़䌀 दख़नख़ ॠ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Sun sclad/  ॐऺय१ ㄁贀ॕड 

84)

Question Stimulus :­

For which of the following,very high relative humidity is harmful?/ ोन가 म؄ ऺॕ ोकऺकॕ
ोलए अोधकतम अॠतरॠग (ऺ눀ॠोधत) नमॎ ऻॊोनकॊरक ऻख़तॎ ऻॖ?

Sunflower/  ॐऺरजमॏखॎ

Tobacco/ त눀ॊकॐ

Maize/ मᬀॊ

Sunflower and Tobacco both/  ॐऺरजमॏखॎ एशॠ त눀ॊकॐ  दख़नख़ ॠ

Correct Answer :­Sunflower and Tobacco both/  ॐऺरजमॏखॎ एशॠ त눀ॊकॐ  दख़नख़ ॠ 

85)

Question Stimulus :­

Grain filling at high humidity results in ­/ अोधक नमॎ म؄ अनॊज भरनॕ ऺॕ­

Increased crop yield/ फऺल उ餃ॊदन म؄ बीॊई ऻख़गॎ

Reduced crop yield/ फऺल उ餃ॊदन म؄ कमॎ ऻख़गॎ

No effect/ कख़ई पौरशत१न नऻॎ ॠ ऻख़गॊ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ
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Correct Answer :­Reduced crop yield/ फऺल उ餃ॊदन म؄ कमॎ ऻख़गॎ 

86)

Question Stimulus :­

Which of the following is not a Heliophyte?/ ोन가 म؄ ऺॕ कग़न­ऺॊ ऻॖोलयख़फॊइट (मॺ먉ॕद) नऻॎ ॠ
ऻॖ?

Maize/ मᬀॊ

Sorghum/ ऺग़रगम

Rice/ चॊशल

Turmeric/ ऻ䠀ॎ

Correct Answer :­Turmeric/ ऻ䠀ॎ 

87)

Question Stimulus :­

Which instrument is used for measuring solar radiation?/ ऺग़र ोशोकरण कख़ मॊपनॕ कॕ ोलए
कग़न­ऺॕ यॠ縀 कॊ उपयख़ग करतॕ ऻ॰?

Bellanis pyranometer/ बॕलॊोनऺ पॊयरॕनख़मॎटर

Radiometer/ रॕोडयख़मॎटर

Photometer/ फख़टख़मॎटर

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

88)

Question Stimulus :­

The response of plants to the relative length of day and night is known as­/ ोदन
और रॊत कॎ अॠतरॠग ल눀ॊई म؄ पग़धख़ ॠ ऺॕ ऻख़नॕ शॊलॎ 넀ोतोॿयॊ कऻलॊतॎ ऻॖ­

Vernalization/दॎॎकरण

Photoperiodism /넀कॊषदॎॎकरण
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Phototrophism/फख़टख़ट३ ख़ोपഋ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Photoperiodism /넀कॊषदॎॎकरण 

89)

Question Stimulus :­

Which of the following is a long day plant­/ इनम؄ ऺॕ कग़न­ऺॊ दॎघ१ 넀कॊष अशधॎ पग़धॊ ऻॖ?

Sugar beet/ मॎठॊ चॏकॠ दर

Wheat/ गॕॾँ

Barley/ बॊजरॊ

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

90)

Question Stimulus :­

By which of the following method,Traditional crop management is practiced ?/
ोन가 म؄ ऺॕ ोकऺ ोशोध 젊ॊरॊ परॠपरॊगत फऺल 넀बॠधन कॊ अ蠀ॊऺ ोकयॊ जॊतॊ ऻॖ?

Ploughing/ जॏतॊई

Seed broadcasting/ बॎजॊरख़पण

Monsoon sowing/ मॊन ॐऺन बख़शॊई

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

91)

Question Stimulus :­

What is the condition of plants during severe drought?/अ球ोधक  ॐऺखॕ कॕ ऺमय पग़धख़ ॠ कॎ
夀ॊ ्㄁थोत ऻख़तॎ ऻॖ?

Respiration decreases / ꈀऺन कम ऻख़ जॊतॊ ऻॖ
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Photosynthesis decreases/ 넀कॊष  ॠऺ娀ॕहण कम ऻख़ जॊतॊ ऻॖ

Cells size decreases / कख़ोषकॊओॠ कॕ आकॊर म؄ कमॎ ऻख़ जॊतॎ ऻॖ

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

92)

Question Stimulus :­

In ____ erosion resistance crops and erosion permitting crops are grown
in alternate strips./____ म؄ कटॊश 넀ोतरख़धॎ फऺल और कटॊश अनॏमोतक फऺल बॊरॎ­बॊरॎ ऺॕ
उपजॊई जॊतॎ ऻॖ।

Intercropping/ अ㬇ॡ फऺल

Mulching/ पलशॊर करनॊ

Strip cropping/ ्케३प फऺल

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Strip cropping/ ्케३प फऺल 

93)

Question Stimulus :­

Which of the following is anti­transpirant?/ ोन가 म؄ ऺॕ कग़न­ऺॊ 넀ोतशॊ萀ख़吋ज१क ऻॖ?

Phenyl mercuric acetate/ ोफनॊयल मर夀ॐौरक ऐोऺटॕट

Alkanyl succinic acid/ अ᐀ॊनॊईल ऺ्쀀ोनक अ耀

Both Phenyl mercuric acetate and Alkanyl succinic / ोफनॊयल मर夀ॐौरक ऐोऺटॕट एशॠ
अ᐀ॊनॊईल ऺ्쀀ोनक अ耀 दख़नख़ ॠ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both Phenyl mercuric acetate and Alkanyl succinic / ोफनॊयल
मर夀ॐौरक ऐोऺटॕट एशॠ अ᐀ॊनॊईल ऺ्쀀ोनक अ耀 दख़नख़ ॠ 

94)

Question Stimulus :­
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Question Stimulus :­

Forage crops for dry land includes­/ षॏ㐀 ꈀॕ縀 कॕ ोलए फॊरॕज फऺल म؄ षॊोमल ऻख़तॊ ऻॖ­

Sorghum/ ऺग़रगम

Maize/ मᬀॊ

Guar/ 栀ॊर

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­All of these/ उपरख़䌀 ऺभॎ 

95)

Question Stimulus :­

When trees are introduced into farms along with field crops, it is known as­/ जब
पॕीख़ ॠ कख़ खॕत म؄ फऺलख़ॠ कॕ ऺॊथ पौरप縀 ोकयॊ जॊतॊ ऻॖ, तब इऺॕ कऻतॕ ऻ॰­

Agrisilviculture/ क॑ोह शनशध१ोनक

Agro forestry system/ क॑ोह शॊोनकॎ 넀णॊलॎ

Both Agrisilviculture and Agro forestry system / क॑ोह शनशध१ोनक एशॠ क॑ोह शॊोनकॎ
넀णॊलॎ दख़नख़ ॠ

None of these/ इनम؄ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both Agrisilviculture and Agro forestry system / क॑ोह शनशध१ोनक
एशॠ क॑ोह शॊोनकॎ 넀णॊलॎ दख़नख़ ॠ 

96)

Question Stimulus :­

The growth rate is highest in:­/ श्॑현 दर ऺशॊ१ोधक ऻख़तॊ ऻॖ­

Blue light/ नॎलॕ 넀कॊष म؄

Red light/ लॊल 넀कॊष म؄

White light/ ऺफॕद 넀कॊष म؄

All of these/ उपरख़䌀 ऺभॎ

Correct Answer :­Red light/ लॊल 넀कॊष म؄ 
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97)

Question Stimulus :­

Which of the following is a natural growth regulator?/ ोन가 म؄ ऺॕ कग़न­ऺॊ 넀ॊक॑ोतक श्॑현
ोनयॠ縀क ऻॖ?

Benzaldehyde/ बॕजॊ쬀ॎऻॊईड

2,­D

NAA

Ethylene/ इथॎोलन

Correct Answer :­Ethylene/ इथॎोलन 

98)

Question Stimulus :­

Synthesis of amylase in certain cereal grain is stimulated by­/कॏ छ अनॊजख़ ॠ म؄ एोमलॕज
कॊ  ॠऺ娀ॕहण 넀ॕौरत ऻख़तॊ ऻॖ­

IAA /IAA 젊ॊरॊ

GA/ GA 젊ॊरॊ

Cytokinin/ ऺॊइटख़कॊइोनन 젊ॊरॊ

ABA/ABA 젊ॊरॊ

Correct Answer :­GA/ GA 젊ॊरॊ 

99)

Question Stimulus :­

Only gaseous phytohormone is:­/ एकमॊ縀 गॖऺॎय पॊदपऻॊमॳन ऻॖ:­

Ethylene/ इथॎोलन

ABA

GA
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IAA

Correct Answer :­Ethylene/ इथॎोलन 

100)

Question Stimulus :­

Tuberization in potato can be achieved by­/ आलॏ क⤈न 넀ॊ ोकयॊ जॊ ऺकतॊ ऻॖ­

Ethylene/ इथॎोलन 젊ॊरॊ

ABA/ ABA 젊ॊरॊ

IBA/ IBA 젊ॊरॊ

NAA/ NAA 젊ॊरॊ

Correct Answer :­ABA/ ABA 젊ॊरॊ 
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